德明財經科技大學98學年度研究所碩士班考試入學招生
專業考科Ⅰ【專業英文】試題
系所組別：理財與稅務管理研究所                請填准考證號碼
	
	 
	
	 
	 
	
	 


注意事項：

1. 考試時間為80分鐘，滿分為100分。
2. 題型：字彙、完成句子、文法、克漏字、閱讀測驗。
3. 配分：字彙 (20%)、完成句子(20%)、文法 (15%)、克漏字 (15%)、閱讀測驗 (30%)。

4. 計分方式：字彙、完成句子、文法、克漏字：每題一分；閱讀測驗：每題二分。
5. 本試題為雙面印製，請注意總頁數，交卷時必須將答案紙與整份試題一起交回。
 
I. 
Vocabulary in context (20%)
Choose the word or phrase that best explains the underlined part of the sentence.

1. The sale is conducted in the lawyer’s office.

(A) transferred


(B) trekked

(C) transacted

(D) transcended

2. Because of a long drought, the farmer was doubtful about the prospect of a good yield.

(A) loquacious


(B) intrepid

(C) dubious

(D) strident

3. Since this business is not making any money, I am indifferent to it.
(A) apathetic about

(B) gloomy 

(C) exquisite

(D) unconcerned about

4. The examination will begin exactly at eight-thirty.
(A) precisely


(B) exceedingly

(C) consequently

(D) equitably

5. Professor Smith imposed a heavy task on us this semester.

(A) laded


(B) lie


(C) lay


(D) laid

6. It was a somber day when we drove to Taipei.

(A) sunny

(B) cold


(C) gloomy

(D) melancholy
7. The kinds of oil you use affect your health.
(A) cause


(B) increase

(C) influence

(D) fancy

8. Regular use of this cream will help to relieve the rough, dry condition of your skin.

(A) alleviate

(B) abstract

(C) evaporate

(D) abbreviate

9. I only have time to tell you the main idea of it, not the details.

(A) twist


(B) gist


(C) list


(D) fist

10. He has been coughing all day and evidently has a cold.
(A) normally

(B) suddenly

(C) questionably

(D) apparently
11. The New Critics concurred in their emphasis on dealing with the text directly.
(A) behaved wrongly in
  (B) united in
  (C) acted sheepishly in
  (D) rebelled with

12. Scientists speculate that unrestrained population growth and dwindling resources may force humans to look to the sea for food.
(A) unavoidable

(B) unexpected

(C) unchecked


(D) unnecessary

13. A solar-cell battery can provide up to ten years of battery life.

(A) a maximum of

(B) at the very least

(C) approximately

(D) in excess of

14. A toad is a chubby creature with rough, bumpy skin.
(A) quiet 

(B) plump

 (C) horrible


(D) small

15. Many businesses have turned to automation in order to produce goods more reasonably.
(A) perfectly

(B) speedily

 (C) economically

(D) simply

16. His conclusion was erroneous.
(A) provable

(B) ill advised

 (C) illogical


(D) mistaken

17. His brother told him that the neighborhood druggist detested him.
(A) adored

(B) liked


 (C) admired


(D) loathed

18. It is always a problem to apportion the tickets to everyone’s satisfaction.
(A) allot

 
(B) count


 (C) obtain


(D) display

19. The results were trivial in comparison with the effort required to achieve them.
(A) insignificant

(B) grandiose


(C) ample

(D) satisfactory

20. The teacher noted that there was a marked uniformity to his work.
(A) consistency

(B) variation

(C) fluidity

(D) excellence

II.
Sentence completion (20%)
Choose the answer that best completes the sentence.

21. Weather forecasters use sophisticated satellite analysis to _______ weather.
(A) prescribe

(B) predict

(C) conduct

(D) convince

22. _____ all, you should stop and think what you are saying.
(A) Above

(B) Beyond

(C) In


(D) Over

23. The building couldn’t finish the new stadium in time, so the ceremony had to be ______ for two months.

(A) put out

(B) put into practice

(C) put off

(D) put up

24. Proper rest and good sleep ______ to good health and longevity.

(A) dedicate

(B) contribute

(C) attribute

(D) distribute

25. The earthquake hit _____ before midnight.

(A) sleepy

(B) shortly

(C) skillfully

(D) sickly

26. I ______ to drive Betty home, but she said she want to walk.

(A) ousted

(B) offered

(C) outlined

(D) outstripped

27. Dark is the ________ of light.

(A) opponent

(B) organism

(C) ordeal

(D) opposite

28. It was between 1830 and 1835 ______ the modern newspaper was born.
(A) how

(B) that

(C) which

(D) because

29. Commercial banks make most of their income from interest ______ on loans and investments in stocks and bonds.

(A) earn

(B) earned

(C) to earn

(D) was earned

30. The author _______ intellectual.
(A) is thought to be

(B) thought

(C) thinks to be

(D) is thought as
31. After the heavy rain, part of the road _______ .

(A) erupted

(B) subsided

(C) boiled

(D) distracted

32. Andrew had good _______ . He still wore a smile on his face though he lost the competition.

(A) companionship

(B) friendship

(C) acquaintance

(D) sportsmanship

33. The man _____ for the love of that beautiful girl and made several attempts to win her heart.
(A) indulged

(B) appealed

(C) seduced

(D) yearned

34. Many teenagers were ______ into handing over their pocket money to some young gangsters.

(A) mediated

(B) intimidated

(C) absorbed

(D) attached

35. Regardless of the disapproval from their parents and lack of money, the couple still determined to get married ______ .

(A) around the clock

(B) against all odds

 (C) at stake

(D) at their heels

36. Recent research has not _______ the causes of SARS; hence, no vaccine has been developed so far.

(A) shed light on
 (B) come up with
  (C) gotten rid of
  (D) made allowance for

37. The naughty boy threatened John not to ______ to the teacher what he had done.
(A) go off

(B) fill out

(C) pitch in

(D) let on

38. John and Marry, ______ , are determined to get married despite their parents’ disapproval.

(A) in no sense

(B) all at once 

(C) for better or worse

(D) once in a blue moon

39. While traveling in Europe, ________ . 

(A) Jane Addams was stirred by the social reform movement

(B) it was the social reform movement that stirred Jane Addams

(C) the social reform movement stirred Jane Addams

(D) Jane Addams, stirred by the social reform movement

40. Some type of instrument ______ has been known to painters since the early Stone Age.

(A) for applying paint

(B) applying paint

(C) is for applying paint

(D) for applying paint, it

III.
Grammar (15%)
Identify the one underlined word or phrase marked A, B, C, or D that should be corrected or rewritten.
41. John was used to swim in the river when he was a child.
 

   A

   B

  C


 D

42. Although Rick tried very hard, he still found it difficult to make himself understand.
   A


    B




C




  D

43. I am sorry that I have kept you waited so long.

 A


B

   C
  D

44. Sometimes that is quite impossible to draw the borderline between technology and pure science.

  A

B


   C



 D

45. Corn grown in great amounts in the state of Kansas.

A    B    

   C

 D

46. Those who oppose to these bills are urged to submit their supplementary opinions before the deadline.
A

B





   C
  D
47. Upon a receipt of your reply we will forward the package.

A   
B


C


D

48. Unless you want to go with the other group, then you had better hurry because we are leaving in five minutes.

   A




  B




    C             

D
49. Donna is a classical music fan, but her business obligations prevent her from attending at the concerts she would like to hear.
A                                   B




   C




D

50. Members of the cat family are generally alert, quiet, intelligent, and aggression.
                      A

B

   C



  D
51. He couldn’t remember on which shelf he kept the book and when did he put it there.

   A


  B
  



 C
     D

52. What excellent swimmer he is; he seems never to have lost any contest so far.
    A


  B



C
   D

53. Only by so doing you could be free from trouble.

     A 


  B

   C
   D

54. Had you used a computer, you could finish the work in half the time.

A
   B


 C




D

55. Arrived home late last night, we found some of our furniture stolen.
  A


B






 
C
   D

IV.
Cloze test (15%)
Choose the best answer to fill in the blank.

Questions 56 through 62 are based on the following passage.
The Beatles were a British rock band that helped transform and define the 1960s. For the Americans, Beatlemania really ___56___ on February 7, 1964, when the Beatles first arrived in New York. The screams of the     57    overpowered the sirens of the police cars that quickly escorted them away.
This band    58    four lower-middle class young men from Liverpool: John Lennon, Paul McCartney, George Harrison and Ringo Starr. They    59    music and songs like no other before them. Their music was     60    energetic and meaningful, disturbing yet memorable, innovative but somehow in connection     61     some of the best poetry of the 20th century. It    62    something for everyone, from young schoolgirls to college intellectuals, from anti-war hippies to respectable symphony conductors.

56. (A) took off

(B) put forward

(C) came across

(D) got about
57. (A) music

(B) singers


(C) noise



(D) fans

58. (A) was composed of

(B) resulted in

 (C) appealed to

(D) made up with

59. (A) benefited

(B) adapted


(C) produced


(D) resisted

60. (A) also


(B) both



(C) only



(D) too

61. (A) to


(B) for



(C) with



(D) in

62. (A) reduced

(B) offered


(C) borrowed


(D) loaded

Questions 63 through 70 are based on the following passage.
One of the complaints of people    63    children attending elementary school is that their teachers assign them too much homework. This is one of the reasons    64    myopia is so common among students in this country.

An improvement in this situation is    65    its way with some public and private schools    66    a new policy. These schools have decided that no homework is    67    to their pupils to encourage the youngsters to plan their own after-school activities.

The policy has met with general    68    among parents. Pupils who do not have to do any homework have more time to pursue activities    69    interest to them. The youngsters no longer have to spend long hours daily reading and writing, hard work which probably    70    more harm than good to children.

63. (A) in



(B) at



(C) for



(D) with
64. (A) what



(B) why



(C) when 


(D) which

65. (A) to 



(B) in



(C) on



(D) by

66. (A) adopting


(B) adapting


(C) adopt



(D) adapt

67. (A) give



(B) to be given

(C) giving


(D) to give

68. (A) approve


(B) aproval


(C) approval


(D) approvel

69. (A) with



(B) of



(C) in



(D) to

70. (A) makes


(B) made



(C) does



(D) doing

V.
Reading comprehension (30%)
Read each of the following passages and choose the best answer to each question. 

Questions 71 through 73 are based on the following passage.

Recent fires have destroyed much of Indonesian forests and pose the latest threat to the survival of the endangered orangutans (red-haired apes). Thirty orangutans fleeing their burning forest home have been killed by villagers, who see the animals as crop raiders. Orangutan mothers have been killed so that their young can be captured and sold into the illegal wildlife pet trade. Orangutan experts continue to receive orangutan infants whose mothers have been killed while searching for food in plantations and fields. 
The fires, caused by drought and coupled with file-setting methods to clear forests, have destroyed more than two million acres. When fire gets into the rainforests’ layer of dry peat (partly decayed plant material which covers the soil), it can burn slowly off and on for months or years after the original fire. These fires continue until heavy rainfall soaks the peat through and through. Orangutans once numbered in the hundreds of thousands, but their population has dropped to roughly 25,000 due to fire, the destruction of forests from felling trees for timber and agriculture, and losses linked to the live-animal trade. Before the fires, only two percent of the orangutans’ original habitat remained, and now, their habitat has become even smaller.

71. Which of the following is NOT a reason for the decreasing of orangutans in Indonesia?

(A) The forests have been burned to get land for agriculture.

(B) Most of orangutans’ forests have been destroyed.

(C) Mother orangutans have been sold into the live-animal business.

(D) Trees have been cut down for human profits.

72. According to this passage, fires in Indonesia
(A) will not end until it starts to rain.

(B) will be eventually put out by human effort.

(C) will die out in a few days when the trade winds blow.

(D) will only stop when the peat is totally wet.

73. What is the best title for this passage?

(A) Fires in Indonesia Keep on Flaming

(B) Orangutans Are Precious Animals

(C) Fires Drive Orangutans to Danger

(D) Orangutans Endanger the Crops of Indonesia

Questions 74 through 77 are based on the following passage.

Baldness, the absence of hair on the head, has been divided into five main types by those who study this affliction of human beings. A general thinning of the hair is called partial baldness and an absence of hair in areas usually covered by hair is labeled area baldness. A thinning of the hair which occurs in persons after about fifty years of age is called senile baldness. In this form of partial baldness, the hairline tends to recede, and there is a gradual thinning of the hair over the whole head. Parts of the head, such as the top, may grow completely bald.

Young people may experience what is called premature baldness. And when certain areas of the head become bald while hair over the rest of the scalp continues to grow at a normal rate, the condition is called pattern baldness.

Despite all the research that has been done on the subject, the specific causes of baldness are still unknown. Experts believe that heredity, aging, hormone imbalance and infection have an effect on the loss of hair. The most widespread cause of baldness is heredity, but it affects female members of a family less than males. The women of a bald family are more apt to retain their hair than the men. The females, however, pass on an inherited tendency toward baldness to their male offspring. 

Besides the possible causes mentioned above, baldness may result from such infections and diseases as ringworm, dermatitis, typhoid fever and scarlet fever. This type of baldness is usually not permanent, however. Hygiene has been found to be an important factor in baldness. An improper cleaning of the scalp may accelerate baldness, while the stimulation from cleansing and brushing helps to delay it.
74. Which type of baldness does not occur among the aged?

(A) Area baldness.

(B) Senile baldness.

(C) Premature baldness.

(D) Partial baldness.

75. When certain parts of the head are bald and the hair elsewhere on the scalp grows normally, the condition

(A) is called pattern baldness.

(B) is labeled partial baldness.
(C) is known as senile baldness.

(D) is named premature baldness.

76. When there is an inherited tendency toward baldness in a family, the females

(A) invariably show evidence of baldness.

(B) are as susceptible to baldness as the males.

(C) convey this tendency to their sons.

(D) rarely, if ever, lose a little of their hair.

77. Baldness that is caused by certain fevers, 

(A) is a kind of area baldness.

(B) is normally temporary in nature.

(C) is quite like hereditary baldness.

(D) is the result of poor hygiene.

Questions 78 through 85 are based on the following passage.

Teachers and librarians need to be aware of the emotional, intellectual, and physical changes that young adults experience, and they need to give serious thought to how they can best accommodate such changes. Growing bodies need movement and exercise, but not just in ways that emphasize competition. Because they are adjusting to their new bodies and a whole host of new intellectual and emotional challenges, teenagers are especially self-conscious and need the reassurance that comes from achieving success and knowing that their accomplishments are admired by others. However, the typical teenage lifestyle is already filled with so much competition that it would be wise to plan activities in which there are more winners than losers; for example, publishing newsletters with many student-written book reviews, displaying student artwork, and sponsoring science fiction, fantasy, or other special-interest book discussion clubs. A variety of small clubs can provide multiple opportunities for leadership, as well as for practice in successful group dynamics. Making friends is extremely important to teenagers, and many shy students need the security of some kind of organization with a supportive adult barely visible in the background.
In these activities, it is important to remember that young teens have short attention spans. A variety of activities should be organized so that participants can remain active as long as they want and then go on to something else without feeling guilty and without letting the other participants down. This does not mean that adults must accept irresponsibility. On the contrary, they can help students acquire a sense of commitment by planning for roles that are within their capabilities and their attention spans and by having clearly stated rules. Teenagers need limitations, but they also need the opportunity to help establish what these limits and expectations will be.

Adults also need to realize that the goal of most adolescents is to leave childhood behind as they move into adulthood. This has implications for whether libraries treat young adult services as a branch of the children’s or the adults’ department. Few teenagers are going to want to sit on small children’s chairs or compete with nine- and ten-year-olds when they pick books off the shelves. Neither are they going to be attracted to books that use the word children or picture preteens on the covers.

Young adults want a wide variety of informational books about aspects of their lives that are new; for example, the physical development of their bodies, the new freedom they have to associate mainly with peers instead of family, and the added responsibilities they feel in deciding what kinds of adult roles they will fit.

78. Which of the following statements accurately reflects the view of the author?
(A) The reading material available in libraries and schools meets the emotional, intellectual, and physical changes for students.

(B) Reading material meets the needs of life changes for teens.

(C) Librarians direct students to the material that is appropriate.

(D) Young adults need to have the option for reading material that speaks to the needs of their developing physical and emotional makeup.

79. It is to be inferred from the passage that
(A) authors must be ready to write books for teens.

(B) students respond to reading material that uses their lives a background.

(C) literature must be found to speak to the specific needs of changing students.

(D) children’s literature is appropriate for adolescents.

80. As compared with children’s literature, adolescent literature

(A) deals with the emotional needs.

(B) concerns itself with intellectual changes.
(C) approaches the physical needs.

(D) all the above.

81. This selection makes the point that meeting the needs of adolescent students often requires incorporating

(A) some type of organization that incorporates adult support.

(B) supervised reading programs.

(C) a strict academic environment.

(D) adult supervision of social programs.

82. The particular recommendation of this article is that

(A) children and adolescents need to be separated.

(B) the needs of adolescents are greater than those of children.

(C) libraries and classrooms are constructed for all students.

(D) the needs of changing adolescents must be accommodated.

83. One would conclude from this reading that 

(A) there is a great market for authors of adolescent literature.

(B) libraries and classrooms need restructuring.

(C) the provision of appropriate reading material for adolescents can be helpful to their maturation.

(D) role models are difficult to find for today’s students.

84. The main idea of this article is the
(A) need for having clubs for students that will help them to compete.

(B) reality that student activities can help to provide a non-threatening environment for youth.

(C) environment for learning is set by furnishings.

(D) implication that teachers and librarians should be aware of ways to assist young adults in coping with life’s changes.

85. According to this selection, the primary desire of young adults is for literature that will

(A) let them see themselves in a favorable light.

(B) provide them with a pattern to follow.

(C) give exciting looks into the future as an adult.

(D) provide information about moving from childhood to adulthood.
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